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1. The right to education is to be seen as ................ right for the realization of
other economic, social and cultural rights.

A) an enabling B) to enable

C) enabling D) enabled
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2. It is important .............. the experience of education within the framework
of the international development agenda.

A) to be reviewed B) reviewing

C) to review D) review
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3. The inadequate access to higher level of learning .............. in a knowledge
divide that includes the “e-literacy” gap.

A) are resulted B) is resulting

C) have resulted D) result
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4. Historians typically treat widely ................. materials as evidence of the
strategies.

A) distribution B) distribute

C) distributing D) distributed
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5. Historians are confused .............. they are not quite sure if they are historians
or scientists.

A) because B) however

C) therefore D) moreover
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6. Through energy-intensive chemical processes, human have created

functional materials and brought them into wide ............... .
A) circulation B) circulatory
C) circulating D) circulated
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7. We are measuring the highest atmospheric .............. of the greenhouse gas
carbon dioxide.

A) concentrated B) concentrating

C) concentrations D) concentrate
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A) implementing B) implements
C) implemented D) implementation
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9. Scientific knowledge is a special form of knowledge, involving not just
theories .............. cultural practices.
A) yet B) but C) for D) and
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10. Scientific practice comprises forms of initiation, ................. , exploration,
discourse, and transmission.

A) education B) educated

C) educates D) educational
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their .............. with the different stages.
A) involve B) involved
C) involving D) involvement
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12. ... had | left the building when they called me on my mobile.
A) Not only B) Hardly
C) Unlikely D) Just
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13. Whenever | visited my supervisor, he ................ practical suggestion to
continue my project.

A) would make B) have made

C) use to made D) would have made
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14. When | asked Ali .............. my books, he had no idea where they were.
A) could he see B) that he had seen
C) if he had seen D) if did he seen
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15. The students liked that professor’s course because ................ .
A) there was a few if any homework

B) not a lot of homework

C) of there wasn’t a great amount of homework

D) there was little or no homework
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16. My friend is lucky ............... to the conference as he has not published his
first paper.

A) to be invited B) having been invited

C) to have been invited D) having invited
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17. I have been contemplating .............. or not to take summer classes.
A) whether B) however
C) would rather D) neither
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18. Prices are too high these days and they will remain ............. until inflation
comes down.
A) soon B) so C) that D) there
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19. They could not develop their project as expected; .............. , they are happy
with the final results.

A) therefore B) furthermore

C) moreover D) nonetheless
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20. In cultural .............. , human societies have entered the relation of
production dependent on their material culture.
A) evolve B) evolving C) evolved D) evolution
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21. The professor said that it takes years to .............. as a teacher.
A) complete B) practice C) accept D) qualify
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22. Since no party had a clear majority in the election, the opposition leader
cereeeneenne. tO Withdraw the election.

A) accepted B) assisted C) attracted D) assessed
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23. Although the subject was complicated, the professor managed to make it

all totally clear and .............. by her delivery.
A) simple B) secure C) saintly D) satisfied
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24. | am completely confused as to why she did it and so it is not .............. to
imagine why other people are mystified too.
A) difficult B) debatable C) decided D) definite
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25. The regulation has nothing to do with you and does not .............. to your
situation.
A) attract B) adhere C) apply D) attach
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26. There has been substantial discussion in the historiography of science and
technology about what an invention is.

A) conclusive B) conscious

C) considerable D) controversial
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27. Historians of science can provide substantively grounded insights into the
relation between the public and professionals.

A) feverishly B) furiously

C) fundamentally D) functionally
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28. Reclaiming the interaction between science and history of science yields
interesting perspectives.
A) probes B) produces C) protects D) profits
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29. The unintended consequences of human activity have been accumulated.
A) amended B) annexed C) abused D) amassed
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30. Abstractions tend to be opaque with regard to the historically specific
experiences from which they emerge.

A) difficult to understand B) clear to know

C) transparent D) transcend
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31. A future web of knowledge would help to balance asymmetries in the
ownership and control of knowledge.

A) inequalities B) peculiarities
C) irrelevances D) irregularities
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32. The importance of Muslim contributions to science, technology,
philosophy and the arts cannot be overstated.

A) is very important B) can be ignored

C) should be neglected D) must be restarted
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33. It isimportant to maintain our position as the preeminent nation of science
and technology.

A) disturbed B) distributed
C) distorted D) distinguished
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34. This paper is lighted in a way to accentuate the motley color distribution.
A) marvelous B) messy C) modified D) mixed
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35. The professor agreed in general with what the researcher said but he
challenged with one point and would take the issue later.

A) defied B) degraded C) denounced D) disordered
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36. The results suggest that providing day care may be insufficient as a strategy
to reduce poverty.
A) inadvisable B) inadequate
C) inappropriate D) incongruous
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37. The availability of default setting and the flexibility in replacing them is an
important feature.

A) accountability B) actuality
C) accessibility D) admissibility
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38. If he does not improve his timekeeping, then he will ultimately be
dismissed.

A) misled B) discounted C) ignored D) fired
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39. The timeline of human history has become intrinsically meshed with the
geologic timeline.

A) inevitably B) innovatively
C) inherently D) inquisitively
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40. Such absolute power can easily corrupt, and it is no wonder that the feudal
system is humanly degrading.
A) harming B) humiliating
C) hurting D) harassing
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Reading 1:

The human body can tolerate only a small range of temperature, especially
when the person is engaged in vigorous activity. Heat reactions usually occur
when large amounts of water and salt are lost through excessive sweating
following strenuous exercise. When the body becomes overheated, heat
exhaustion can lead to heatstroke, a life threatening condition. Fortunately, heat
exhaustion is preventable.

Heat exhaustion is generally characterized by clammy skin, fatigue, nausea,
dizziness, profuse perspiration, and sometimes fainting, resulting from an
inadequate intake of water and the loss of fluids. First-aid treatment for this
condition includes having the victim lie down, raising the feet 8 to 12 inches,
applying cool, wet cloths to the skin, and giving the victim sips of salt water.

Heat stroke is much more serious; it is an immediate life-threatening
situation. The characteristics of heat stroke are a high body temperature (which
may reach 106°F or more); a rapid pulse; hot, dry skin, and a blocked sweating
mechanism. Victims of this condition may be unconscious, and first-aid
measures should be directed at quickly cooling the body. The victim should be
placed in a tub of cold water or repeatedly sponged with cool water until his or
her temperature is sufficiently lowered. Fans or air conditioners will also help
with the cooling process. Care should be taken; however, not to over-chill the
victim once the temperature is below 102°F.

1. The most immediate concern of a person tending to a victim of heat stroke
should be to ......ccccccveeecrecrrceccnnenn ©

A) get salt into the victim’s body

B) raise the victim’s feet

C) apply hot cloths to the skin

D) lower the victim’s temperature

2. Which of the following is a symptom of heat exhaustion?
A) profuse sweating

B) unconsciousness

C) hot, dry skin

D) a weak pulse

3. Which of the following statements can be inferred from the above passage?
A) It is possible to avoid heat exhaustion.

B) There is no treatment for the life-threatening situation.

C) Heat exhaustion usually occurs as a result of excess intake of water and fluids.
D) Being a vigorously active person decreases the risk of heat stroke.
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4. Symptoms such as nausea and dizziness in heat exhaustion victims indicate
that the person most likely needs to .........cccccecvvvueeneenee .

A) be immediately taken to a hospital

B) be given more salt water

C) be immersed in a tub of water

D) sweat more

5. The word “this” in line 9 refers to .........ccccevurvernnnnene .
A) clammy skin

B) fatigue

C) dizziness

D) heat exhaustion

HIRCTE PN

Geallas 1150 8,8 aSile) Loguaso wiS Joow 1) (g3gamme orlod cinb Wilgi oo L oylwdl oy
325 b 3 i g OF (5305 y20lie 45 w300 5 Loy Ygoro (oo F (sla STy .coml wy s [ ]
gl o0 0,5 A2 3l e o (B9 Wigy o0 Cowd I asad ((£h))9) Gluped (g 33 9 9> I e 95
Wl gs .l [58] olo sucSwugd Caxdg S 45 dgb yxiw (SojloyS 4 wilgi oo <l oyl
el (6325 iy BB (S35l ,5

S0 e (BB g wad §85 oS pw oSS (Slomz g wsb e Cangs (IS gk
ad gl Sloludl . cawl Wilalo (018 caws 3l g o (SEL iz 51 ob a5 wicawd Sojlo,S gbaasivn
S 9 b po Azl (3318 518 @IV B A Sjlailay Lol (49 )5 ool Loy ililes ol byl s (2] (61 2
] o 4 Sod c_:T sbrac o old g cwyy 59

Sl> (SojleyS pdle cuwl 358l (5598 SiiS Wy e by SO g 039y i 59 Hlems B> (T3l
9SS g EID Cuwgy A (T (D gy o b ooyl A0 108 4 ol (S 45) (s GYL slod
S5 gy sl Ayl Lol g sl JBad st ol (55 lous S 31 iciuand oS gutne (B2 5% o juilSeo
851051 &1 gl ¢y (glod Al Uy 9.0 a5 5158 05 O (g S 50 Wl Hlows .0gub plmil s @ 3w 39,5
S Wigy 4 s Egnkae dygad b g 4y 09 s gl 9 0 O b 58 joky T oo el (S
S y30 50 1325 1390 <8l [ylomms] (Gumnl (60,150 iz 50 Jl (I b 05 walgs S [l uis
B S ax i 1 (59 (Sl bl Coled B Az jo VoY I S Hlews s glos

RN IR P
Sl g ol oo 50 ouionly Slse 4 bgyye Y13 95 5l e cul loadly wlize] D &y38 )

.(Fast Reading LS ¥ s jo o Oloendgl) Cowl grsmo D &5 35«9 | by ouiis o )Ll




(0121 353 9 1)l Ol 2552 (2.5 9 5,2) (539965 ) 313 4go Sliwul Gjgal- il 09,8 51 118

.(Fast Reading LS ¥ is 0 (LooST Olondsd) Cuml guomo A &y 35 ol by Loasls o, Lisl «ay s
0,90 o0 A g Camwd yguo 50 TNFEr &S 31 solisw! Juduy [ e 31 blocwl BB oldza] A &y 5 .Y
o 3l (Sl Fwly (538L 6l g ol oo 3 blosuwl o Sl 3o by yo Y13 £ 95 51 e (] &S

.heat exhaustion is preventable

St 3 ol (550 33 ool s & byt pe SYIhes £33 31 ol [l izl B s ¥

.(Fast Reading oLs' ¥ it ;0 LSS Wlrusgi) Cowl gumo B & 35

43 el gl gl 538 (6l o] mpnsd 250 b U1 30 Jles ol ot @250l D G35 0

(e & 4 g8 S L 1) Conlio & 35 e 33 by 3 5, b g 03,5 aemlye 5 b (oS
.(Fast Reading wUs f iz 50 JuosS Wlxndgi) cuwl this ywus 2> 5o heat exhaustion

www.FastZaban.com

3w los SIS S (69 (53990055 ) 31 40 sbiwl Fast Vocab OGS (glaxin Vo Ggos Jold 39bls sl

https://dl.fastzaban.com/Fast-Vocab-FastZaban.pdf




(0121 353 9 1)l Ol 2552 (2.5 9 5,2) (539965 ) 313 4go Sliwul Gjgal- il 09,8 51 118

Reading 2:

A recent investigation by scientists at the U.S. Geological Survey shows that
strange animal behavior might help predict future earthquakes. Investigators
found such occurrences in a ten-kilometer radius of the epicenter of a fairly
recent quake. Some birds screeched and flew about wildly; dogs yelped and ran
around uncontrollably. Scientists believe the animals can perceive these
environmental changes as early as several days before the mishap. In 1976 after
observing animal behavior, the Chinese were able to predict a devastating
quake. Although hundreds of thousands of people were killed, the government
was able to evacuate millions of other people and thus keep the death toll at a
lower level.

6. What prediction may be made by observing animal behavior?
A) the ten-kilometer radius of the epicenter

B) an impending earthquake

C) the number of people who will die

D) environmental changes

7. The word “evacuate” most nearly means ..........ccccceveerennenee .
A) remove B) destroy
C) exile D) emaciate

8. If scientists can accurately predict earthquakes, there will be ...................... .
A) fewer animals going crazy

B) a lower death rate

C) fewer people evacuated

D) fewer environmental changes

9. Why can animals perceive these changes when humans cannot?
A) Animals have certain instincts that humans don’t possess.

B) Animals are smarter than humans.

C) By running around the house, they can feel the vibrations.

D) Humans don’t know where to look.

10. Which of the following is not true?

A) Some animals may be able to sense an approaching earthquake.

B) By observing animal behavior scientists perhaps can predict earthquakes.

C) The Chinese have successfully predicted an earthquake and saved many lives.
D) All birds and dogs in a ten-kilometer radius of the epicenter went wild before
the quake.




(0121 353 9 1)l Ol 2552 (2.5 9 5,2) (539965 ) 313 4go Sliwul Gjgal- il 09,8 51 118

¥ ke dor

Sllgae conzme jlidy 45 a3 g0 L 1 ol sl olalllan 35 50 0 oyladaniiils waz g3
0P Srteghs 00 glads jo 1y JBI sy llize WS SaS ouul 0 Wi) (S i 4 Wilgi oo
9 g (2l & 03l g g Wi 00 Sl 8 (B 5l (B s ,S carlivo ls &) (Silia a5 gloj Jime)
OIaeitils W ga oo Byb T 9 Byl nl 4 LSl g g WO )T o0 il K 1505 (0 519 g o
Jlo 0 g o8T aummooms 5 ol puadd o) 51 axdly 51 Jud 59, cpoiy wilgi oo lilgas 45 Witz
Iy ySlmg &35 SO wistuilyh s )5 oudline |y Wllgna o p2 9 cuxe LS,y by Juz Syl 5 any NAVF
) 0050 31 5553 45 o cyanken Condlyy g Lol it ALiS 3 y0 31 55 5138 Lo 4,51 WS i
OS5 (55 s el 30 1y 309 po slol W yguocy s g WIS Al il

Yl (2 il Gy

Ol oo Slila> ;L8 sualise b i Jof o 95 & a4z i b oo o ool wliz2] B &y 35
QLS Y o 50 (oSS Olomdsd) Cowl B &35 oFwl 055 (S 1) ga-Bdllen B ladl;
.(Fast Reading

«y0,S adsi» evacuate b Suojy bz €50, Luls» remove cal [HE5ly sbxol A &y35 Y
.(Fast Reading Ls # uiz) o yls

Ol 0lgF g0 W35 Ba8o (i b e BT s 4 azgi L [oo 50 eadiple wlisa] B a3y

.(Fast Reading ols ¥ isu) Cowl B &0 55 (fewly ol idlS [y pogS yo

Oloesgh) Cowl A &3y 35 duwly vy U pgw b ylaw a1 az g5 b [0 50 oadyly wlize] A dy s f
.(Fast Reading oUs ¥ sy ;o LT

.95 0 42 g < 3w O ygu0 4 NOL true ;1 ooliw! as agi b [ oo y0 ooyl wildsz] D &35 .0
S99 grme 435 A ol b el e 30 oualipgle Gldia 4 bgpe SYIgw £95 5| Cond (nl &5

.(Fast Reading LS ¥ sy jo Lo Olnd i) Cowl Cawyoli D

www.FastZaban.com




(0121 353 9 1)l Ol 2552 (2.5 9 5,2) (539965 ) 313 4go Sliwul Gjgal- il 09,8 51 118

Cloze Passage:

Desert is a special region where only certain kinds of plants and animals can
survive. All deserts have very little ...(1)... . This means that only animals and
plants that can ...(2)... without water for long ...(3)... of time can exist in the
desert.

Plants in the deserts are ...4)... adapted tothe dry and hot
environment. One ...(5)... desert plant is the cactus. Like many desert plants,
this plant has very ...(6)... . As plants lose most of their water ...(7)... their leaves,
the small leaves of the cactus help to ...(8)... water evaporation. There are other
desert plants that do not have leaves ...(9)... .

Some desert plants survive ...(10)... avoiding the dry season
altogether. ...(11)... the dry season, this plant remains as a seed and does not
...(12)... from the soil at all. When the rains come, this seed would grow very
quickly into ...(13)... . [t would bloom rapidly ...(14)... scatter its seeds before the
dry season ...(15)... .

1. A) soil B) water C) heat D) sunshine
2. A) maintain B) support C) live D) lose
3. A) periods B) limits C) moments D) delays
4. A) particularly B) seldom C) orderly D) in part
5. A) honorable B) well-known C) great D) favorite
6. A) little water B) short life C) strong body D) tiny leaves
7. A) inside B) to C) through D) for
8. A) cut down B) relate to

C) be based on D) beg for
9. A) no matter when B) at all

C) any time D) if possible
10. A)in B) since C) as D) by
11. A) during B) meanwhile C) for D) despite
12. A) develop B) disappear C) emerge D) show
13. A) seeds B) trees C) roots D) plants
14. A)inorderto  B) after that C) immediately D) and then
15. A) could return B) returning

C) is returned

D) returns
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